Snynnpn Eﬂrarﬁngnﬁg
wfuwg
U-6215-03.10.2014-S<-010/2

<U3uusuuh <uuvNuMEsntHasuu
onguep

«MGSUY4UL SNkNeh UuuhL» <U3uUsuuh LUuNumnesnt@3uu orcuenty
ononuNt@3NFLLEN 64 LPUSNEY YUSUNGLNE UUUhUL

<nnwéd 1. «MGunwywb wnipph dwuhb»  <wjwunwbh  <wipwwbunnigwb 1997
pywywlh nEyuinbdptph 27-h <0-186 optlph 35-pn hnnwdéh wrweohl L Gppnpn wwppt-
nnipynLbbtpnid «0.5 tinynu» pwretpp thnfuwnhOt] «0.15 wninynu» pwretpny L hnnwép |pwg-
06 hGnlw| pnwbnwynigwdp Gnp ywppGpnipjwadp.

«Unyt hnnwény OGwpuwwnbuwd wnnydp yhpweyntd b dwiwlwyha  syswnywé
(sqwbddwé) wbwnwlwb wnnipph gnidwph Gwwndwdp npw Jdwpdwb dwdybnhg wigwé
wipnne dwiwbwywnowlh hwdwn, pwyg ns wybh, pwb 365 opyw hwdwp:»:

<nnywé 2. Unyb onptlpl nudh dbe £ dunlbnid 2015 pwywbh hniGwnph 1-hg:

UhGsl untb optGpl nidh db9 dinbbjp yawpdwb dwalytuinhl hwonpnnn 365 opp |pwgwd
wEwnwywb nnipph syfwpywéd gniiwpitph GYwwndwdp wnnydbph hwdwpyp unyb opthpl
ntdh dte bbbt opndwbhg nwnwpnud :

UhOsl unylG optbplt nidh dbo dwnlbp y&wpdwl dwdytuinhl hwonpnnn 365 opp
sipwgwé wewnwywh wninipph syswnpywdé gnudwnbtph Gywwndwidp innydbph hwdwpyp unyl
ontlplh nidh dGo dunlbbint opwlhg hwdwnpyynid b dwdybuwwbg jnipwpwbynip opqw
hwdwn 0,15 wninynup swihny dhbsl J&wndwb dwaytuinhlb hweonpnnn 365 opp |pwlwyp:



uvonoumltNe
«<wpytnph dwuhb» <wjwunwih <wipwwbwnnipjwb optapntd [pwgntd L thnthnfunipintGbtp YuwunwpGint dwuhby», «UYGjwgdwéd wnpdtph hwpyh
Gwuhb» <wjwuwnwOh <wiopwwtwunipjwa opGpnid thnthnfunieintbbtn L jpwgndtbp Juwnwpbine dwuhOy, «GYwdnwihG hwpyh Gwuhb» {wjwu-
nwbh <wbpwwGunnijwb optapnid [pwgnild Yuwuwnwnpbint dwuhOy, «UpunnGwgpuiht y&wnbtph dwuhb» <wjwunnwbh <wipwwbunnipjwb onptl-
pnid | pwgniiGbp Yuunwnbine dwuhO», «MGunwywa ninipph dwuhO» <wjwuwnwbh <wiopwwbunnipjwb optGpnid thnthnfunigntGGtp L [pwgniy
Ywuwwnbint dwuhOy, «ROwwwhwwiwywb L patogunnwgnpéiwb yawnotph dwuh0» {wjwunwih <wipwwtwnipjwb optapnid thnthnfunipintl
Ywuwnwntint dwuhl» L «SwlwwwnhwihG yswph dwuhO» {wjwunwih {wtpwwtwnipjwb optilpntd thnthnfuntgyntt Ywuwnwnbint dwuhO»
{wjwunwth {winpwwtinnupjwb optGpltph Gwuwqgétiph hwpebp Ytpwptpw) GEpjuwjwgywdéd wrwownynieniaGtph, npwag panntGiwb Yud

snannLOdwb Ytpwptinuy
h/h Urwnynipjw,
wrwownynywh Urwnpynigwb, wewownynigjwl pnwbnwynipgnilp Ywunwpywdéd thnthnfunipyntGOtipp
htnhOwyp

«Glwdurmuhla hwplh dwuhly <wywunwih <wanwwbunnipuwl onblpnd [nwgnid uiuwwipbme dwuhly <wywuunwih <wanwwbunnyguwi
onblph Gwfuwqdh Ybpwpbnyuy

1. {{ Uag Lwuwgénid Yuwwnwnyby 6O
wwwnguwdwynpbbp Urnwownyyned £ hwiwwwwnwufuwb thnthnfunipntbGbbn L
Uwuiyb 1) J&wpqwé Gwdnwiht hwpyh hbun yspwnwinddwb [pwgniiltn, npnOg hwiwdwyb, yswnywé
dSwpdwluwb, Ywpnwb | hwdwywnpgp tnwpwét) bwb wihwwnwywb EYwdwnwihb hwpyh hwn yepwnuwpddwb
WJwqyul pOowywpwbwyhl zhGwpwpnepywb 2pewbwybtpnid hwiwywpgp nwpwdéynid £ Gwl
ywrnigynn pwywpwOatph Ywid wihwnwywb powytih | wohwwnwywb pwyuwpwbwh
in0Bph dGrp ptpdwb gnpdwnplEph Yypuw, 2hGwpwnnipjwb 2nowbwybbpnid
ywrenigynn wlihwwnwywb powyth wnbbph
Uhpuwjt| 2) Owfuwqg6hg hwbb] wyb npnypp, nph hwdwdwyh, abrp ptpdwb gnpéwppltEph Ypw:
Ut pnLiju, dhghywywb wbdwhg Ynnihg y&wpyuwdé GYwduinuwhl
Lwhpw hwpyp htw £ yepwnuwpdynid pbwybh 260pned
2nhpwpjw whdhowwbu Yuwrenigwwwuwnnnhg dGrpptnywdé
pOwywpwbOEph dwuny,
<bnh0b 3) Owfuwqg6h 1-hG hnnwdéh wrwehl dwup
Phawnjw(, <nyhwblbu | ypwiutpwant) hbnlyw) pndwlnuynigudp. «Uny
Uwnqunjw( ontitpny uwhdwOdwé Yungny J&wnywé (wyn pynty’

hwpywjhb gnpéwywh thongny yawnywdé) GYwiuinwihl
hwpyp htwn £ ypwnupdynid <uyjwuunwbh
<wlOpwwbwnnigwb tnwpwdépnid plwywpwbh
abrpptpiwl Gwwunwyny Jupént wuwwnnnh, wbhwun
abrGwpywunhpne L Gnuinwph Ynnihg <wjwuwnwbh
<wlpwwbwunipjwl rtghnbbun $hOwbuwywl
Ywaqiwybpwnipyntbhg unyb optbpp nudh dbe tuinlbinig
htunn unwgywé L thwuwinwgh pwlwpwbh
abrpptndwll nunnywé hhwynpbpwiht ywpyh hwiwp

J&wnynn wnynuttinh swigny, puig ns wybih, pwi';




<< Ud wwuingwiwynn

Upsyhy
UhOwujw

Urwownyyned £ J&wpguwé GYwdinwghb hwpyp htun
JGpwnwpdOtnt thnfuwntt wnpyniph dnun
hwiwwwwnwufuwb gnudwph swihnd wwlwubglb)
pintob yAwpdwl Gopwlw EYwdnwiht hwpyh gnidwpp:

QunlOnud GGp, np Owfuwqgény GEpYwywgywé
tdnunbgnidl wewyb] wpnynibwybun t, pwbh
nn

1) wyb hGwpwynpnegntb Ypbdteh
hwdiwdpt] dhwdwdwbwy dh pwlh
gnpéwunnLbtphg wfuwwnwywnd unwgnn
wbdéh Yynnihg y&wnpywé Ywidnwihb hwnpyp
gnuiwnObpp L wyn hwbpwagnidwpp
sqbnwquagnn swhny yawnpywo
EYwdwnwihb hwpyh gnidwpp Grwdywyuw)h
wwnpGpwywintgwdp hbun yGpwnwndlt
$dhahywywl waaha,

2) Owfuwqgény ObpYwywgywé dnunbgnidp
Jwpswpwpwlwb wenwinyg wewyb| wwng t,
pwlh np wewownyynn tnwnpptpwyh
wuwpwaquynid wbohpwdtwn Y hbh
Jtpwhuynnnipyntt hpwwbwglt| nnwpptp
wnpntpbtphg wwnpGpwpwn unwgynn
Elywdnwtuinlbbphg Ywwnwnynn 0jwgbgnidlbbph
GYwuwndwdp,

3) OEpYuywgywé wrwownynigyntlp sh
hhaGwynpyned Gwbl showqquyhl thnpéh
unbuwbynibhg:

«Uybywgywo wndtph hwunplh dwuhly <wywunwGh <wanwwbnnipuwl onblpnid hnyhnfuniginlGGan L (pwgnidabn uiuwnwnbne dwuhly
Swywunwbh <wipuwwybunngiul opblph Gwfuwgdh Yenwpbnwy

3. {{ Uad Urwownyyntd t hunnwytglt| Gwjuwaqgsh Lwfuwgénid Yuunwnywé hnnidbepp
wwwngquwdwynplbp 5-pn hnnywéh w, p L g Yenbpp hwyh welsiny wjl JGpwptpned 60 dwyp opkbph wnnbpuwinhl L n
<tnhok hwGqwdwbpp, np hnnud £ Yywwnwpyned Gwjuwagsh 6-nn pE Gwfuwgéh inbpuunhl:
Phwnjwl, <nyhwl0bu | hnnwéh 1-hh, 2-pn L (Ywd) 3-pn Yewnkpha, puyg
Uwnpgunuwl Gwfuwadh 6-pn hnnJwiénid Yewnkp syw:
4. << Ud wwuingwiwynn | Urweownyynid b «UYGjugdwd wndtph hwpyh dwuhO» «Uyblwgywé wndtph hwpyh dwuhby» ££
upésyhy {<£ onklph 43.2-nn hnnywény Gwuwwnbudwé onklph 43.2-nn hnnwdény Gwuwwnbuywé
UhGOwuw( unnigwlpp hwpyuwyha hwyh |phy wnpdtipny unniqwbpp Gwuwwnbuywé k ns pb
hwunnigiwb gnudwph (OEpwryw” UU<L-h gnedwinp) wbqgninptl, wyp nhurnwynpnepjwdp
Unyhwyhh swihny, pwjg ns wwwu 5 dhihnb npwdhg, Yuiunwnynn gnpénnnipjwlb hwdwn, w)b £ <L
yhuny swih Ypdwuwnt L uwhdwOb] nsy wwywu, pwh 2.5 Ywrwdwnpnipjwb uwhiwbGywé Yuwpgh
uhLhnb npwaihg: fuwuunndwip Ywi wwophlh dGrp ppdwoé
Jwi ywwndbwhwodwdé dubph pugdwdp
hwnywyha hwayh nnipu gpnid: Wu wenidny,
wnniqwbph dGénipinLtbp Epynt wbgquwd
O0Jwqgbglbip bwywuwwywhwpdwn sk:
5. L Ywrwywpnipyntt | Urwowpyynid | Gwfuwqéh 5-pn hnndwéh 2-pn Yeuinny Lwuwgénid Yuwuwnwnyb k

ontlph 23-pn hnnywénid |pwgynn Gnp

hwiwwwwunwuuwb thnthnfunipniG:




wwppbpnigintbbtphg ybpohlnid «wjl wbdhb» pwrbpp
thnjuwphlb) «wjb rbghnbGOwn whdh0» pwrbpny:

«Upunnbwgnuyhl Yswnlbnh owuply <wywuunwih <winwwbunnggiuwl opblpnid (pwgnidlbn uuwnwnplyne dwuhly <wwuunnwih

<wopwwybunngiuwl opbilph Gwfuwaqdh Ybnwpbnywy

{{ Uad
wwwngquwdwynplbp
<bnh0b
Phawnwb, <nyhwbbGu
Uwnpqupjw

Urwownpyynid § «UpuninGwagpwiht yAwnpatph dwuhb»
<wjwunwbh <wbpwwbunnipjwb optbpntd [pwgnidltn
ywuwnwnbint dwuhb» <<€ onklph Gwfuwgénil
«Uwhiwlwitpd gyninuywb hwiwypbbpnid» pwrbpp
thnfuwnphlt] «UwhdwOwwwh L dhasl 300 pawyhs
nLatgnn hwdwbpbtp» pwrbpny:

YUwnoénd Glop, np Gwuwgdény GGpYuwjwgywé
tnunbgniip wewyb] wpnwpwgh t, pwbh np
wjb hGwpwynpnipyntb £ pbédbrnid
wpunbnipynt006pp Yhpwet] wb ££
Ywrwywnnipjwb Ynnihg hwuwnwuwnynn
gwlynid Gepwrqwé wjlt uwhdiwbwdbnd
gnunwywb hwdwapbbph dwuny, npnbp
nLOth 300-hg wybh ptwyhsbbn:

« NGuinwlw G wnninph dwuhly <wywuunwlbh <wanwwbuinneguwl opbapnid thnuhnfuniegin GaGan L (pwgned uwanwipbine dwuhGy,
«PlOwywhuwiwlw b pGoquuugnnddwl Yawnbbnh dwuhly <wjwuunwlbh <wanwwbuwnngegiwl onblpnid thnvhnfuniina Yuanwnbyne
dwuhly L «dwlwuwwphuyhl Yawnh dwuhly <wywunwGh <winpwwbuwnnugiwl onpGlpnid thnihnfuniyginca uumwpbyne dwuhlGy <wywuuwlh
<Swihpwwbunnpuwl opblph Gwfuwgdh Jpwpbnwy

7. {{ Uad Urwownyyned £ Lwfuwagstpny GEpYuywgywé innyydh
wwuwngwaiwynnpbtp 1) «NGunwywb wninipph dwuhO» <wjwuunwOh <wOpwwt- | hwadwnpydwb Gnp npnypwswidp opwywb
<tnh0k nnipjwb optibpnid thnthnfuntgyntGbbp L [pwgniy 0.15 vinynu, wybth hhabwynp t, pwOh np
Phownwa, <nyhwbOtu | uwwnwnpbine dwuhO» << optlph Owfuwagdnid «0.15 wyb hwywuwn £ hwpytph Jawnnidl
Uwnquipuwa wnynup» pwretpp thnfuwphOti «0.10 tinynuny» ontilpny uwhiwlywsé dwdytunhg
puwirtpny, nLpwgbbint nGwpbpnud hwdwpyynn innydh
2) «Plwwwhwywiwlwi L phoginwgnpétiwd Yswnlbph | ONWHWO swhh(:
dwuhO» <wjwunwbh <wbpwwbwunnipjwb optbpntl
thnthnfuntpyntd Yuwuwnwpbint dwuhO» <<€ opklph
Owfuwgdntd «0.15 tinynup» pwrtpp hnfuwphlt] «0.05
innynuny» pwrtinny,
3) «Awlwwwnhwiht y&wnh dwuhb» {wyjwuwnwbh
Lwlpwwbwnnipjwl optbpnid thnthnfuntpyntl
ywunwptint dwuhb» << onpkbph Gwfuwgénid «0.15
unnynuh swihny» pwrtpp hnfuwphbt) «0.10 tninynuh
swhny» pwrbpny:
8. {{ Uad Urwownyyntd t hwpbphg hwibk] «MGunwywb ininipph Lwfuwagétph thwpbpny GGpljuwjwgywé
wwuwngwaiwynnpbtp dwuhO» <wjwunwbh <wbpwwbunnipjwb optbpntl «MGnwywb wnnipph dwuhb» <wjwuinwbh
Uhpuwybi thnthnfunipintbbtp L pwgnid Yuwnwptbint dwuhb» ££ {wlpwwtwnnipjwb optbpnid
Ut pnLiju, onklph Gwfuwaghép, pwOh np wyb gpbpb GnyUnLpjwdp thnithnfunipyntGbtp L |pwgnid Yuwwnwpbint
Lwhpw Upybned £ 2013 pwlywbh Gnjdpbph 26-h0 << Ud dwuhb» << optlph Gwfuwgény, h
Snhpwpjw wwuwngqwdiwynn Uhpwjbl Uk pnigjubh Ynndhg tnwnptpnigntt << Ud wywungqwidwynp
OGpYwywgywé” «MEnwywb innipph dwuhb» Uhpwyb| UG pnidjubh Ynndhg
{wjwunwOh <wipwwbwnnipjwl optlpntyd OGpYwywgywé opblunpwywb Gwuwagdh,
thnthnfuntepyntl Yuunwpbnt dwuhb» << optitiph wnndtph hwdwnpyidwl wagniiwhl
Gwfuwagh6p, npb wpntb gunOdnid t Gpypnpn pbptipgiwl | hwpwpebpnipintGbGnb wdpnnonLpjwip




thninid: ywpgwynpwé 6G: Pwgh wyn, Gwjuwgény
wrwownyynid £ 0wqgbglt) Gwb
wwunnbwuwnwp wadwbg Gywwndwdp
wnnydbph hwqwpydwb npngpwswdp ni
uwhdwbwthwyt] wnnydbph hwdwpydwb
dwiwlbwywhwunywop:

«<wnlybph dwuhly <wywuunwih <wopuwwbunnueuwa opbGpnd [wgned L ihmganfunygyint GG6n uwunwnbne dwuhlGy <wywuunwlih
Swihpuwwbunnipiuwl onbilplbnh wfuwaqdh Yapwpbnywy wewownynigint GGk sbuwi:




